=

JSUNIL TUTORIAL

SUMMATIVE ASSESSMENT -1, 2014
MATHEMATICSCLASS- IX

@+ Jb) (@a— Jb) TR T :

(A)  b2-a? (B) aZ-b? Q) a%2-b (D) b?-a
(a+ «b) (a — b) is equal to :
(A)  b2-a2 (B) a2-b2 Q) aZ2-b (D) b2%-a

Sg4S p(y) = myaﬁwsﬁaﬁawm%:

A) a+1 (B) m G m+1 (D) a
The maximum number of zeroes of the polynomial p(y) = my@is:
A) a+1 (B) m © m+1 (D) a

m3(1— i)aéswﬁﬁmﬁx?’ww%:

m

(A)  m3 B) —5 € -1 D) 1

3
The coefficient of x3 in the expansion of m? (1 - i) is:
m

(&) m3 B - © -1 O 1

s FgIE 13 + ax2 + x + 3 T Th T[UHETE (x+3) &, A a HIAH T :

(A) 3 (B) 4 © 0 O) -3
If (x +3) is the factor of polynomial x3+ax2 +x+3 then, the value of a is :
A 3 B 4 <© o (D) -3

&t T TR{d § BC||DE, LABC=/CDE=90° 3R ZACB=30°7%, d «DCE I A9

'&;I"'IT :
A
. 30° C
-
D E
(A) 30° (B) 60° © 90° (D) 120°

In fig. BC||DE. If ZABC=/ZCDE=90° and ZACB=230° then the measure of
/DCEis:
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»

A
b 30°N ¢

s

D E
(A)  30° (B)  60° € 90 (D) 120°

AABCH3fe ,A> /B> ,C8, @ :

(A) AB > AC (B) AC<BC
© AB > BC (D) AC>BC
In AABC,if / A> 2B >~/ Cthen:

(A) AB > AC (B) AC<BC
© AB > BC (D) AC>BC

afc fig A(0,2),B (0, —6) 3R C(a, 3) y- AT WA B, W a FAF T :

(A) 0 (B) 2 © 3 (D) -6

If the points A(0 , 2) , B (0, —6) and C(a, 3) lie on y-axis, then the value of a
is

(A 0 (B) 2 © 3 (D) -6

fsig P(3, —5) wqafer # fre@ 7

A 1 (B) I © 1 (D) v
The point P(3, —5) lies in the quadrant :
A 1 (B) 11 (© 1 (D) 1V

@ug-a/ SECTION-B
T &A1 9 W 14 H Uk & 2 31k &

Question number 9 to 14 carry two marks each.

T HISTT @ 39040 — 4 3320 — 35.
Simplify : 3%/4_—43\/32 —%/g.

T p(y) =y —3y2+7y— 10 F1 (y—2) § 9N A W TS I BT |
Find the remainder when the polynomial p(y) =14 — 3y2 +7y—10 is divided by
v —=2).

UAEUE FHIFST @ a(a+b)2—2ab(a+Db)
Factorize : a(a + b)2 —2ab(a+Db)
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12.  afe & foig C, <1 foigsli A 3iR B & o9 # 30 yahR fio ® fF AC=BC &1, @ fag
W%AC=%AB%|

If a point C lies between two points A and B such that AC=BC, then prove that
AC= 1 AB.
2

13. & 7 Hfd § £« DOB=87° 3R ~ COA=82°%1 afg « BOA =35°%, @ ~COB 3R
Z COD J1d wifT |

D C
B
35° N
o —>

In figure £ DOB=87° and £ COA=82°. If £ BOA=35° then find ZCOB and
£ COD.

D C
B
35° N
O A

J1eraT/ OR
<t T Trpfa § £ APQ 1 gHfguesk PR ¥ 1 fag *ifSe fF AB||CD ®

Q

104 D
F

In the figure PR is the angle bisector of ZAPQ. Prove that AB||CD.

F
14. Wﬁﬂﬁﬁwmww ﬂTrlTl'\?16cm,14cm3ﬁ'{10cm%I

Find the area of a triangle whose sides are 16 cm, 14 cm and 10 cm.
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Eus-9/ SECTION-C
U WEAT 15 W 24 § Ueieh o 3 3k & |
Question numbers 15 to 24 carry three marks each.
BA HINT : 0.6 + 0.47 3
Solve: 0.6 + 0.47

HYar/ OR

V2 =1 safdi fresgor sifsa

Represent <2 on the number line.

afe (%)JH: (Ejzx_g 21, dl x %1 HH 1 RIS |

a

a x—1 b 2x—8
If [Ej = (—) then find the value of x.

a

IR THE % WANT § TOFETS HIfT | 623 — 25x2 +32x — 12. 3

Using remainder theorem, factorize : 6x3 — 25x2 +32x —12.
319747/ OR

3 3
S T % W QA m s o 150
872 — 87 x 13 + 13
873 + 133
872 — 87 x 13 + 132

Using suitable identity find the value of :

AfG 13 —5x2 —px+24=(x—4) . q(x) T, ﬁrpwnﬂw%7 3
If x3—5x2—px+24=(x—4).q(x), then what is the value of p ?

& E SMRfa W £ CAB: ~ BAD=1:2 % dl, AABC % Gt {5101 J1d shiforg | 3
B

o
o

E A @

In the given figure £ CAB : Z BAD=1: 2, find all the internal angles of AABC.
B

3rerar/ OR
fag FifST fom fagst & ft il 61 90 180° BT 7 |

Prove that sum of angles of a triangle is 180°.
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20. Y] R0 A I GEGUIRTT wdt € &R W | W HE g B ¥ BP 3R BQ #IUT A &t 3
I3t W B Y Tt T el & 1 guIfEe o

()  AAPB=AAQB
(i) BP=BQ

Line [ bisects £ A and B is any point on line . BP and BQ are perpendiculars
drawn from B on arms of £ A. Prove that:

(i) AAPB = AAQB

(ii) BP=BQ

21. UuH wHfgaE S ABC # AC=BC ¥ qa1 AD &R BE 3fivad 81 fag wifvw i 3
AE=BD ¥

AD and BE are the altitudes of an isosceles triangle ABC with AC=BC. Prove
that AE=BD.

22. A TE M H BC WFE fag D 1 fag *ifsw ff AB+BC+CA>2AD T 3
A

B c
D
In figure D is a point on BC. Prove that AB+BC+ CA >2 AD.
A

Page - 05
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23. I B [||m 3R p|lq &1 x TeMy T TH I0G AT
q

In the figure, find x and y if I||m, p||q.
q

24. T TAYS IR g AgS 1 AR IR &R THE €1 AfE S FT ST 15 om,
14 cm 3R 13 cm &, O THE =g 1 € J1q HIFTT STaifeh SHRT R 14 cm T |

A triangle and parallelogram have the same base and same area. If the sides of
the triangle are 15 cm, 14 cm and 13 cm and the parallelogram stands on the base
14 cm, find the height of parallelogram.

@us-3 / SECTION-D
U9 GEAT 25 & 34 H UAF o 4 37k Tl

Question numbers 25 to 34 carry four marks each.

25. 73 32 2.5
AN e B B+ o+
Evaluate : 7\/§ — 3\/5 — 2\/5

"0+ B+ G+
31941/ OR

?Jﬁixa=y,yb=z3‘ﬁ'{zc=x &, @ fag FINT % abe=1 71
If x3=y, yP =2z and z€ = x then prove that abc=1.
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31.
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o % 125\ % (3)2
o T - &) ™ (272 <(3)
} (v2)
O\ %2 (125 75 (3)2
2 (%) <)
(v2)’

Evaluate :

Ifg IgUE x4 —ax3 + b, HIOAEIE x2—3x+2 T, A a 3R b & T TN HIfT | 4

If 2 —3x + 2 is a factor of polynomial d—ax3+ b, then find the values of a and b.

Hﬁx2+i2=23€r,ﬁx3+i3wnﬂamaﬁm| 4
X X

1

If x> + iz = 23, then find the value of 2+ —-
X X

Il a, b,caﬁﬁ%ﬂ"@lﬁg M a2+b2+c2—ab—bc—ca=0 %, q1 gumse fm 4
a=b=cgl

If a, b, ¢ are real numbers and a2+b2+c2—ab—bc—ca=0 then show that
a=b=c.

e R Fefafad foget 1 sreifad wifsu 4
Point | A| B | C| D | E |F
X 1 0 | -2|-3|-3|5

y -7|-5] 0 | —-4] 2 |3

3 foigall =l fafan, S x- 2787 31 - 3187 W feod 7
Plot the following points on the Graph :
Point | A| B | C| D | E |F
x 1 0 | -2|-3|-3|5

y -7|-5] 0 | —-4] 2 |3
Write the points which lies on x-axis and y-axis.

AABC ¥ £ B 3iR £ C & sfiafie wHfgsieh BD 3R CD €1 S9Ifsw f 180°+y=2x 4

g

o

-
X

B C
In AABC, BD and CD are internal bisector of £ B and /£ C respectively. Prove

that 180°+ y=2x.
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A

B C

AABC ® ZA @1 afgySeh AD & iR BC &1 77 foig D ®1 fag #ifsw o AABC

T FHfgag B 71

In AABC, AD is the bisector of £ A and D is the mid point of BC. Prove that
AABC is an isosceles triangle.

3rgET/ OR
ABCD T =g 2 fr@es foehol AC 3t BD WER O W Witeae i €1 uizy &
AB+BC+CD+DA>AC+BD &I

ABCD is a quadrilateral in which diagonals AC and BD intersect at O. Show that
AB+BC+CD+DA > AC+BD.

& T AP T AB=AD, L 1=,2 3R /3=,4 & Tag T AP=AQ R
D

Q

S S

P
B
In figure AB=AD, Z1=/2and £ 3= /4. Prove that AP=AQ.
D

Q

S I

B

s FIfT fo §1 By wafmem 2 €, 9fc T B1s & < 07 iX STt fafa o
T IS & < H10i AR ITHT ST ST F R B |
Prove that two triangles are congruent if any two angles and the included side of

one triangle is equal to any two angles and the included side of the other
triangle.
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